KIT NO.:
TRI TON cCustomer Instruction Sheet | 13733
DESCRIPTION REV (0 |DRAWN BY: DRAWING NO.:
| Wagner
WIRELESS WINCH CONTROL [oRTE: 13732
Parts List
ITEM | PART NU DESCRIPTION QTY
1 13731 WIRELESS CONTROL, 1
WINCH
2 |08738 SCREW, TEK#14 x 1 1/4 2
3 06696 SCREW, TEK #12 2
4 (09589 WASHER, FLAT 1/4 NYLON 4

INSTALLATION INSTRUCTIONS: AREAD COMPLETELY BEFORE STARTING!

1) FOLLOW WIRING INSTRUCTIONS THAT CAME WITH THE WARN WIRELESS CONTROL SYSTEM.

2) FASTEN REMOTE RECEIVER TO TRAILER USING SELF DRILLING SCREWS #2. ATTACH THRU FRONT
DECK PROTECTOR. NOTE: MOUNT CLOSE ENOUGH TO WINCH TO ATTACH BOTH ENDS OF THE WIRE
HARNESS.

3) SEPERATE REMOTE HOLSTER HANDLEBAR MOUNT HALVES. USE MOUNT HALF THAT DOES NOT
HAVE BRASS THREADED INSERTS TO MARK HOLE LOCATION ON OUTSIDE OF STORAGE BOX AND
PRE-DRILL MOUNT HOLES USING A 5/32 DRILL. ATTACH WIRELESS REMOTE HOLSTER BRACKET TO
INSIDE OF STORAGE BOX USING SELF DRILLING SCREWS #3 AND NYLON WASHERS #4. NOTE: DO NOT
OVER-TIGHTEN SCREWS AS THIS CAN STRIP OUT PLASTIC MOUNT.

4) ATTACH HOLSTER TO MOUNT BRACKET USING SCREW PROVIDED WITH WARN WIRELESS
CONTROL SYSTEM.

T:\ENGACAD_\13732.dwg




